Midterm Exam - December 1, 2017, Stochastic Processes
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No calculators or electronic devices are allowed. One formula sheet with 15 formulas is allowed.

In English:

1. Cars arrive at a gas station according to a Poisson point process. The average waiting time between two
consecutive arrivals is 2 minutes. One third of these cars are Jeeps, two third of them are SUV’s. Jeeps
are diesel-powered, while half of the SUV’s are diesel-powered, half of them are gasoline-powered.

(a) Given that 12 cars arrived between 10.15 and 10.35, what is the expectation and variance of the
number of cars that arrive between 10.25 and 10.557

(b) Given that 6 cars bought diesel between 11.15 and 11.35, what is the probability that at least two
of them were Jeeps?

(¢) I start observing the cars at 11.50. What is the expected number of SUV arrivals before the first
Jeep arrival?

2. There are two tennis courts. Pairs of tennis players arrive according to a Poisson point process at rate
2 per hour and play for an exponentially distributed amount of time with mean 1/2 hours. If there
is already one pair of players waiting for a court to become available then new arrivals will leave. If
currently both courts are occupied but there are no players waiting, what is the expected time until both
courts become empty?

Magyarul:

1. Az autok egy Poisson pontfolyamat szerint érkeznek egy benzinkuthoz. Az atlagos varakozasi idé két
tankolo autd érkezése kozt 2 perc. A kocsik egyharmada Trabant, kétharmada Zsiguli. A Trabantok
dizelolajjal miikodnek, mig a Zsigulik fele dizelolajjal, fele benzinnel miikodik.

(a) Feltéve, hogy 12 auto érkezett 10.15 és 10.35 kozt, mi a varhato értéke és a szordsa azon autok
szaménak, amik 10.25 és 10.55 kozt érkeztek?

(b) Feltéve, hogy 6 kocsi tankolt dizelolajat 11.15 és 11.35 kozt, mi a valészintsége annak, hogy legalabb
ketts Trabant koziilik?

(¢) 11.50-kor kezdem figyelni az autékat. Varhatoan hany Zsiguli érkezik az els§ Trabant érkezéséig?

2. Van két teniszpalya. A teniszezSk péaroséaval érkeznek egy Poisson pontfolyamat szerint, 6ranként atla-
gosan 2 par érkezik. Egy par exponencialis eloszlasu ideig jatszik, atlagosan fél oraig. Ha mar egy péar
arra var, hogy egy palya felszabaduljon, akkor az Gjabb érkezék azonnal tovabb allnak. Ha pillanatnyilag
mindkét pélya foglalt, de nem varakozik senki, akkor varhatéan mennyi idé milva lesz mindkét palya
egyszerre szabad?



